# Assoziativgesetz (mit fehlender Zahl) Name:

Findeden Wert von n. Antworten
1) ne(1le3)=(8+1)¢3 2) (1+6)+10=1+(n+10)
A.8 A.6 L
B.3 B. 10
C.1 C.1 2.
D.1 D.2
3.
3) (0+1)¢3=n+(1+3) 4) (10¢3)¢2=10+(ne*2)
A.1l A.3 4.
B.3 B.9
C.1 C.2 5
D.3 D. 10
6.
5) 10+(3+n)=(10+3)¢2 6) 5¢(n+10)=(56)+10
A. 10 A.2 -
B.0 B.6
C.2 C.5
D.3 D. 10 8
9.
7) (5¢1)en=5¢(14) 8) Oe(4¢7)=(0e4)en
A.4 A.0
B.5 B.7 10.
C.0 C.4
D.5 D.0 11
12.
9) (Ne7)+3=9+(7+3) 10) (n*6)+8=7+(6+8)
A.9 A.6
B.2 B.7 13,
C.3 C.9
D.7 D.8 14
11) (7+n)e1=7+(0+1) 12) (8+9)+10=n+(9+10)
A. 1l A.8
B.8 B. 10
C.1 C.4
D.7 D.9
13) 3+(4+2)=(ne4d)+2 14) Oe(5+1)=(0+5)en
A. 4 A.5
B.2 B.1
C.3 C.5
D.2 D.0
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Ch Assoziativgesetz (mit fehlender Zahl) Name: L Osungsschlissel

Findeden Wert von n. Antworten
1) ne(1+3)=(8e1)+3 2) (1+6)«10=1+(n+10) A
A.8 A.6 L
B.3 B. 10
C.1 C.1 2 A
D.1 D.2
3. D
3) (0+1)e3=ns(1+3) 4) (103)+2=10+(n+2)
A.1 A.3 4 A
B.3 B.9
C.1 C.2 s C
D.3 D. 10
6. B
5) 10e(3en)=(10¢3)«2 6) 5°(n+10)=(5+6)«10
A.10 A.2 . A
B.0O B.6
C.2 C.5
D.3 D. 10 8 B
9. A
7) (5¢1)en=5¢(14) 8) O0¢(47)=(0¢4)en
A. 4 A.0 B
B.5 B.7 10.
C.0 C.4
D.5 D.0 1. A
12. A
9) (ne7)+3=9+(7+3) 10) (n+6)+8=7+(6+8)
A.9 A.6
B.2 B.7 13 C
C.3 C.9
D.7 D.8 u B
11) (7*n)e1=7+(0°1) 12) (8+9)«10=n°*(9+10)
A. 1l A.8
B.8 B. 10
C.1 C.4
D.7 D.9
13) 3(4+2)=(ne4)s2 14) 0+ (51)=(0+5)en
A. 4 A.5
B.2 B.1
C.3 C.5
D.2 D.0
1-10 | 93]86|79|71]64[57|50] 43|36 29|
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